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Suppose the earth was a perfect  sphere and its diameter was 12 700 km

If you wrap a piece of rope around the equator how long will it be?

If 2m is added to the rope,
how high above the surface of the earth will the rope now be?








































































































































































































Equator problem















































































































































Text Practice: 


Alpha pg.195   Ex 12.3












































